


Overhead Distribution Construction Manual Section 8

Ver. 2.0 Communications Page 8-2



Overhead Distribution Construction Manual Section 8

SECTION 8 — COMMUNICATIONS

SECTION 8 = COMMUNICATIONS ...ttt 3
8.1 Pilot Cable — Intermediate —Wo0d POl .........ccoiiiiiiiiiii e 4
8.2 Pilot Cable —Small Angle —Wood POIE......ccouiiiiiiieeeeeee e, 6
8.3 Pilot Cable —Dead End & Strain —Wood POle.......c.coiiiiiiiiiiiicc e 8
8.4 Pilot Cable —Junction Box & Notes —Wo0d POle..........ccceviiiiiiiiiiiiiece 10
8.5 Pilot Cable — Intermediate — Steel / CONCrete POIE .....eeeeeeeeeeeee, 12
8.6 Pilot Cable — Limited Strain — Steel / CONCIrete POl . ... e, 14
8.7 Pilot Cable — Dead End & Full Strain =Steel / Concrete Pole .....coovccieeeeeeeeee, 16
8.8 Pilot Cable —Junction Box & Notes — Steel / CONCIreLe . ...uuvevii e, 18
8.9 Pilot Cable Support Steelwork for Steel POIES........ooiiiiiieeeeeeee e, 20
8.10 Junction Box Mounting Plate Steelwork Details........ccoovvviiiiiiiiii e, 21
8.11 10 Pair Pilot Cable Junction Box Arrangements and Details.........cccccvviiiiiiiiiiiiiiicceee, 22
8.12 INSUIAtOr Straps / BraCKets .....oii o 24

Ver. 2.0 Communications Page 8-3



Overhead Distribution Construction Manual Section 8

8.1 Pilot Cable — Intermediate — Wood Pole

1 | 2 | 3 | A 5
A
<>
B
O/ CATENARY
— I~ I
fH———
C MULTICORE CABLE
R
— SMALL ANGLE POSITION
(FOR LINE ANGLE UP TO 10°)
A/P/W
D
75L <—"
E
43.27.28
MAINTAIN 25mm (MIN| — |
CLEARANCE BETWEEN
CABLE & INSULATOR.
— S s
F
G
H
DIMENSIONS ARE IN MILLIMETRES
APL Nos: I/P/W UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMSSION OF TASNETWORKS
o |y SCALE
2 TasNetworks TIE
— |8 PILOT CABLE NTS
<|g SMALL ANGLE
ORAWN (5 PRO-SOLUTIONS
o |2
[ g DESIGNED BY ELECTRO WOOD POLE AA
: © (HECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 28/NOV/18 D O H C H O O W S D O O W A

Ver. 2.0 Communications Page 8-4




Overhead Distribution Construction Manual Section 8

Pilot Cable — Intermediate — Wood Pole — Materials List

1 | 2 | 3 | 4 5
A
B
APL QTyY ITEM STOCK CODE DESCRIPTION
I/P/W 1 60C 321117 SHLV2 LV REEL INSULATOR

1 75L 32286 M16x300 BOLT

2 86B 65158 M16 ELS WASHER

1 82A 40441 M16 NUT

1 17D 323357 U-BRACKET 40x 5x 110
¢ 1 54) 146540 CONDUCTOR SIDE TIE, HELICAL 3/2.75
D
E
F
G
H

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v SR A STORED M A RETREVAL SYSTEN W M. Fot
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
it 2 TasNetworks TITLE SCALE
—1a PILOT CABLE NTS
< :(' DORAWN (5 PRO-SOLUTIONS SM ALL ANGLE
©|= WO0O0D POLE
w = DESIGNED BY ELECTRO AA
Ll 5 (HECKED BY H.WESTBURY
: APPROVED BY REVISION
DATE APPROVED | 19/NOV/18 D - O H [ - H O O /‘ - S D - O O 2 A

Ver. 2.0 Communications Page 8-5



Overhead Distribution Construction Manual Section 8
8.2 Pilot Cable — Small Angle — Wood Pole
1 [ 2 [ 3 [ A 5

A

B

C

o
D
SMALL ANGLE INTERMEDIATE POSITION
(FOR LINE ANGLE UP TO 10°%)
A/P/W

E

F

G

H

DIMENSIONS ARE IN MILLIMETRES
APL Nos: A/P/W UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

0 Ol 2 trores R A AT
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS

o |y SCALE
- é TasNetworks WLEP\LOT CABLE NTS
<|g —_— T SMALL ANGLE - INTERMEDIATE

Z § DESIGNED BY ELECTRO WOOD POLE AA
: o CHECKED BY H.WESTBURY

< APPROVED BY _ _ _ _ REVISION

DATE APPROVED | 28/NOV/18 D O H [ H o O 2 S D O O /‘ A
Ver. 2.0 Communications Page 8-6




Overhead Distribution Construction Manual Section 8
Pilot Cable — Small Angle — Wood Pole — Materials List
1 | 2 | 3 | 4 5
A
B
APL QTy ITEM | sTock DESCRIPTION
CODE
H A/P/W 1 60C | 321117 |SHLV REELINSULATOR
1 75L 32286 |M16x300 BOLT
1 868 65158 |M16 ELS WASHER
c 2 82A 40441 |m1eNUT
1 17D | 323357 |U.BRACKET 40x5x110
1 54) 146540 |CONDUCTOR SIDE TIE, HELICAL 3/2.75
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o O g as Nehatvores STORED M A FETREVAL SYSTER I AL o
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (Y SCALE
- é TasNetworks WLEP\LOT CABLE NTS
<|2 — — SMALL ANGLE - INTERMEDIATE
E E DESIGNED BY ELECTRO WOOD POLE AA
: © (HECKED BY H.WESTBURY
APPROVED BY REVISION
= DATE APPROVED | 28/NoV/18 D - O H [ - H O O 2 - S D - O O 2 A
Ver. 2.0 Communications Page 8-7




Overhead Distribution Construction Manual Section 8

8.3 Pilot Cable — Dead End & Strain — Wood Pole

w \ 2 \ 3 \ 4 5
A
B DEAD END STRAIN
DE/P/W
C
— MAINTAIN 25mm (MIN)
CLEARANCE BETWEEN
CABLE & INSULATOR.
0 CATENARY STRAIN POSITION
(NOT DEAD END)
S/P/W
£
F
CATENARY STRAIN POSITION (RIGHT ANGLE STRAIN)
RS/P/W
G
REFER DRAWING 8.12 FOR DETAILS OF INSULATOR STRAPS/BRACKETS
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
DE/P/W, S/P/W, RS/P/W UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD NO PART OF THIS DRAWING MAY BE REPRODUCED,
w t d T Net k : : STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TasNetworks e Stae
-2 PILOT COBLE NTS
< | DEAD END & STRAIN - W0OOD POLE
a <Z( ORAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY [ ELECTRO
=
=|e CHECKED BY H.WESTBURY A A
-
< APPROVED BY _ _ _ _ REVISIN
DATE APPROVED | 28/NOV/18 D O H [ H O O 3 S D O O /‘ A

Ver. 2.0 Communications Page 8-8



Overhead Distribution Construction Manual Section 8

Pilot Cable — Dead End & Strain — Wood Pole — Materials List

1 | 2 [ 3 | 4 | 5
A
B
APL QTy. ITEM | STOCK DESCRIPTION
CODE
| DE/P/W 1 75L 32286 |M16x300BOLT
2 82A 40441 |M16 NUT
1 868 65158 |M16 WASHER ELS
1 60C | 321117 |SHLV2 LV REEL INSULATOR
C 1 112A SHACKLE STRAP
1 1128 SHACKLE STRAP
1 74C 32221 |M12x100 BOLT
— 1 88A 66412 |M12 WASHER TOWER
1 M12 NUT
S/P/W 1 60C 321117 |SHLV2 LV REEL INSULATOR
D 1 75L 32286 | M16x300 BOLT
1 368 65158 | M16 WASHER ELS
1 82A 40441 | M16 NUT
- 2 53Y 148506 |CONDUCTOR HELICAL TERMINATION
STEEL 7/2.75
RS/P/W 2 75L 32286 | M16x300 BOLT
E 4 82A 40441 | M16NUT
2 868 65158 | M16 WASHER ELS
2 60C 321117 | SHLV2 LV REEL INSULATOR
2 112A SHACKLE STRAP
] 2 1128 SHACKLE STRAP
2 74C 32221 | M12x100 BOLT
2 88A 66412 | M12 WASHER TOWER
F 2 M12 NUT
G
H
DIMENSIONS ARE IN MILLIMETRES
3 UNLESS OTHERWISE STATED
. T 0 RenESRELEET
= - ABN: 25 167 357 29% PRIDR PERHISSION OF TASNETWORKS
- lg TasNetworks | "o) 0T CABLE NTe
<= DEAD END & STRAIN - W0OOD POLE
e g DRAWH (5 PRO-SOLUTIONS
w |2 v TRO
- |8 = e ' Ab
APPROVED BY BEVISION
< Py e D - OHC = HQ03 - SD - (02 A

Ver. 2.0 Communications Page 8-9



Overhead Distribution Construction Manual Section 8

8.4 Pilot Cable —Junction Box & Notes — Wood Pole

1 \ 2 \ 3 \ L 5
A
NOTES
1. PILOT CABLE TO BE SECTIONALISED AT 1000m INTERVALS IN A jUNCTION BOX
ATTACHED TO POLE. CABLE TO BE STRAIGHT THROUGH JOINTED BETWEEN JUNCTION
BOXES. JOINTS TO BE AT POLE POSITIONS WHERE POSSIBLE.
B 2. CATENARY WIRE (7/2.75 SC/GZ) TQ BE EARTHED AT APPROXIMATELY
500m INTERVALS WITH 19/1.53 (PVC INSULATED) CABLE.
EARTH WIRE TO BE DISCONTINUOUS CLOSE TO SUBSTATION.
EARTH WIRES TO BE PROTECTED WITH PVC CONDUIT FOR 2m FROM GROUND
AT POLE BASE. CATENARY EARTHS TO BE AT LEAST 0.6m
[ FROM ALL OTHER EARTHING SYSTEMS ON POLES.
INSULATED WIRE TO BE RUN GROUND TO ELECTRODE LOCATED AT LEAST 2m
FROM HV/SC POLE ALONG LINE FOOTING RESISTANCE TO BE LESS THAN OHMS.
3. PILOT SCREEN TO BE DISCONTINUOUS AT MID-POINT OF RUN.
SCREEN TO BE EARTHED AT SUBSTATION ENDS ONLY. MID POINT INSULATION
(C TO WITHSTAND MIN 5kV FOR 5 SECS. SCREEN EARTH TO BE AT LEAST 0.6m FROM ALL
OTHER EARTHING SYSTEMS ON POLE AND TQ HAVE FOOTING RESISTANCE LESS THAN
30 OHMS. REMOTE EARTH AS FOR CATENARY EARTH ON HV/SC POLE.
L. AT ALL TIMES CATENARY AND WRAPPING WIRES AS WELL AS PILOT CABLE ARE
TO BE KEPT AS FAR AS POSSIBLE FROM POLE STEEL.
5. REFER DRAWINGS 8.10 AND 8.11 FOR DETAILS OF JUNCTION BOX AND STEELWORK.
D
£
43.27.28
F
G
JUNCTION BOX POSITION (INTERMEDIATE)
JB/P/W
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
JB/P/W UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» Fradi TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TasNetworks TITLE SCALE
- 12 CATENARY ARRANGEMENTS NTS
<|Z PILOT CABLE
DRAWN €5 PRO-SOLUTIONS
== JUNCTION BOX & NOTES - WOOD POLE
w2 DESIGNED BY | ELECTRO A[«
= e (HECKED BY | HWESTBURY
-
-« APPROVED BY -~ _ -~ _ REVISION
DATE APPROVED | 28/NOV/18 D OHC HOO04 SD 001 A

Ver. 2.0 Communications Page 8-10



Overhead Distribution Construction Manual Section 8
Pilot Cable — Junction Box & Notes — Wood Pole — Materials List
1 | 4 | | d | 3
A
B
APL qry ITEM | sTock DESCRIPTION
CODE
JB/P/W 2 75L 32286 |M16x300 BOLT
2 “gaa | 40441 [misnuT
2 868 65158 |M16 ELS WASHER
1 60C | 321117 |SHLV2 LV REELINSULATOR
c 1 54) 146540 |CONDUCTOR SIDE TIE HELICAL 3/2.75
1 432728 |2.5mm SOFT GALVANIZED STEEL WIRE
1 108A PC JUNCTION BOX MOUNTING BRACKET
—] 1 1098 PC JUNCTION BOX
1 110 PC JUNCTION BOX STRAIN RELIEE
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T i Net k PTY’ LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 © g a3 Tasmuraorss S’ B ST o
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
- é TasNetworks WP[LOT CABLE il
<|z JUNCTION BOX - WOOD POLE :
x |2 DRAWH 5 PRO-SOLUTIONS
w |2 DESIGRED BY ELECTRO
: g CHECKED 8Y H.WESTBURY Al“
APPROVED BY REVISIOR
= DATE APPROYED | 26/N0V/18 D - O H E - H 0 O A‘ - S D - 0 O 2 A
Ver. 2.0 Communications Page 8-11




Overhead Distribution Construction Manual Section 8
8.5 Pilot Cable — Intermediate — Steel / Concrete Pole
1 \ 2 \ 3 \ 4 \ 5
A
B
C
D
— CATENARY INTERMEDIATE POSITION
1/P/SC
E Ol
54)
F
MAINTAIN 25mm (MIN)
CLEARANCE BETWEEN
CABLE & INSULATOR
CATENARY INTERMEDIATE POSITION
1/P/SC
G
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
1/P/SC UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 Frading a: Taskatworks S A LI ey e o
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
-z TasNetworks WLEP\LOT CABLE NTS
< |= INTERMEDIATE - STEEL/CONCRETE POLE
o Z DRAWN (S PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
= g CHECKED BY H.WESTBURY AL
< D - OHC — HO005 - SD - 001
DATE APPROVED | 29/NOV/18 A
Ver. 2.0 Communications Page 8-12




Overhead Distribution Construction Manual Section 8

Pilot Cable — Intermediate — Steel / Concrete Pole — Materials List

1 | 2 | 3 | 4 ] 5
A
B
APL QTyY ITEM STOCK DESCRIPTION
CODE
1/P/SC 1 112D INSULATOR BRACKET FOR S/L POLE
] 2 75] 32284 [M16x 260 BOLT
2 82A 40441 |M16 NUT
2 86B 65158 |M16 ELS WASHER
C 1 598 HV INSULATOR PIN STALK
1 60E 320531 {TYPE ALP 22kV PORCELAN INSULATOR
1 54) 146540 |CONDUCTORSIDE TIE, HELICAL, 3/2.75
b
£
E
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
" O g Yodwrwoss'” 10 T RS
= ABN: 24 167 357 299 PROR PERMISSION OF TASNETWORKS
il ] TALE SCALE
-1z Tashietworks PILOT CABLE NTS
< | INTERMEDIATE - STEEL/CONCRETE POLE
ol = TRAWR 5 PRO-SOLUTIORS
w |3 DESIONED BY | ELECTRO
: g CHECKED BY | H.WESTBURY A 4
- APPHOVED BY _ _ = _ REVISION
DATE APBROVED | 29/HOv/1 D OHC HOOS SD 0 O ?) A

Ver. 2.0 Communications Page 8-13



Overhead Distribution Construction Manual Section 8

8.6 Pilot Cable — Limited Strain — Steel / Concrete Pole

1 [ 2 [ 3 [ 4 [ 5
A
B
C
MAINTAIN 25mm (M\N)/
CLEARANCE BETWEEN
D CABLE & INSULATOR
CATENARY LIMITED STRAIN POSITION
— (NOT DEAD END)
S/p/SC
E
F
G
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
1/P/SC, 1/P/SC, S/P/SC UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETREVAL SYSTEM IN ANY FORM,
hid trading as TasNetworks OR TRANSMTTED BY ANY MEANS WITHOUT THE
z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
=3 TITLE SCALE
-2 TasNetworks PILOT CABLE NTS
< |2 LIMITED STRAIN - STEEL/CONCRETE POLE
o <Z( DRAWN (S PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
o
Ll CHECKED BY H.WESTBURY AL
< s D - OHC — H006 - SD - 001
DATE APPROVED | 29/NOV/18 A

Ver. 2.0 Communications Page 8-14



Overhead Distribution Construction Manual Section 8
Pilot Cable — Limited Strain — Steel / Concrete Pole — Materials List
1 | | 3 | L I 5
A
B APL aTy ITEM STOCK DESCRIPTION
CODE
S/P/SC 1 112D INSULATOR BRACKET FOR S/L POLE
L 2 75) 32284 1M16 x 260 BOLT
2 82A 40441 {M16NUT
2 868 65158 |M16 ELS WASHER
1 59B HV INSULATOR PIN STALK
C 1 60E 320531 |TYPE ALP 22kV PORCELAN INSULATOR
2 53y 148506 {CONDUCTOR HELICAL TERMINATION STEEL 7/2.75
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
_ UNLESS OTHERWISE STATED
T i Net ks PTY. LTD. N0 PART DF THIS DRAWING MAY BE REPRODUCED,
o O et 3 ot eres e
= ABN: 24 167 357 299 BRIDR PERMISSION OF TASHNETWORKS
o |y TE SCALE
13 TasNetworks PILOT CABLE NTS
=5 LIMITED STRAIN - STEEL CONCRETE POLE
o« % DRAWN 5 PRO-SOLUTIONS
w2 DESGNED BY | ELECTRD
|8 CHECKED BY HWESTBURY AL
: APPROVED BY REVISIN
DATE APPROVED | 29/HOV/15 D - OH[ - H006 - SD - 002 A
Ver. 2.0 Communications Page 8-15




Overhead Distribution Construction Manual Section 8

8.7 Pilot Cable — Dead End & Full Strain —Steel / Concrete Pole

1 [ 2 [ 3 [ 4 [ 5
A
266
B
C
NOTE
CABLE AND DISC INSULATORS
OMITTED FOR CLARITY
| I
| B4
I
|
D
CATENARY FULL STRAIN POSITION
(DEAD END)
L DE/P/SC
E
__mon
| e
»
F
a =S
| |
11LF
G
VIEW .
H I
APL Nos DIMENSIONS ARE IN MILLIMETRES
DE/P/SC UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks OR TRANSHITTED Y ANY VEANS WITHOUT THE
= ~ ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
> TITLE SCALE
-z TasNetworks PILOT CABLE NTS
<|Z — p——— DEAD END OR FULL STRAIN
x = - STEEL/CONCRETE POLE
w | = DESIGNED BY ELECTRO Al”
[=4
=|e (HECKED BY H.WESTBURY
- APPROVED BY REVISION
< p— — — p—
DATE APPROVED | 29/N0V/18 D O H [ H O O 7 S D O O /‘ A

Ver. 2.0 Communications Page 8-16



Overhead Distribution Construction Manual Section 8

Pilot Cable — Dead End & Full Strain — Steel / Concrete Pole — Materials List

1 [ 2 | 3 ] L | 5
A
B
APL Qry mem | sTock DESCRIPTION
‘CODE
DE/P/SC INSULATOR BRACKET FOR STEEL/CONCRETE
. 1 112¢ ,
POLE
1 6A" | 323315 |INSULATOR BRACKET 50x6x300
3 75 32284 |M16x260BOLT
C 3 824 | 40241 { mi6NUT
3 868 | 65158 | M16 WASHER ELS
5 say | 148506 | CONPUCTOR HELICALTERMINATION STEEL
7/2.75SC/GZ
] 1 5 323312 |SPACING PLATE 50x6x 140
2 60G | 321260 |INSULATOR, DISC TYPE (PORCELAIN)
2 61A | 322056 [BALLCLEVIS ANDPIN
D 2 618 | 322386 |SOCKET TERMINATION
7 - 610 | 322090 [KinkPIN
1 598 INSULATOR PIN STALK
L o1 60€ | 320531 |TYPEALP 22kv PORCELAIN INSULATOR
E
|]
F
G
H
OIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS ORAWING MAY BE REPRODUCED,
o O ratg aa Tosherwores DA TR IS St o
= ABN: 26 167 357 299 PRIOR F OF TASNETWORKS
o THIE SLALE
=& TasNetworks PILOT CABLE NTS
<[z DEAD END OR FULL STRAIN
A i I i STEEL/CONCRETE POLE
w 2 CESISHED BY ELECTRO Al}_
= (o (HECKED BY | KWESTBURY
:;' ALPPROVED BY HE H 0 07 _ 0 O REVISION
DATE 4PPROVED | 20500 /18 D-20 - - SD 2 A

Ver. 2.0 Communications Page 8-17



Overhead Distribution Construction Manual

Section 8

8.8 Pilot Cable —Junction Box & Notes — Steel / Concrete

W | 2 |

\ L

@ CDED

NOTES

1. PILOT CABLE TO BE SECTIONALISED AT 1000m INTERVALS
IN'A JUNCTION BOX ATTACHED TO POLE. CABLE TO BE
STRAIGHT THROUGH JOINTED BETWEEN JUNCTION
BOXES. JOINTS TQO BE AT POLE POSITIONS WHERE PQOSSIBLE.

2. CATENARY WIRE (7/2.75 SC/GZ) TO BE EARTHED AT
APPROXIMATELY 500m INTERVALS WITH 19/1.53
(PVC INSULATED) CABLE. EARTH WIRE TO BE
DISCONTINUOUS CLOSE TO SUBSTATION. EARTH WIRES
TO BE PROTECTED WITH PVC CONDUIT FOR 2m FROM GROUND
AT POLE BASE. CATENARY EARTHS TO BE AT LEAST 0.6m
FROM ALL OTHER EARTHING SYSTEMS ON POLES.
INSULATED WIRE TO BE RUN GROUND TO ELECTRODE LOCATED
AT LEAST 2m FROM HV/SC POLE ALONG LINE FOOTING RESISTANCE
TO BE LESS THAN OHMS.

3. PILOT SCREEN TO BE DISCONTINUOUS AT MID-POINT OF RUN.
SCREEN TO BE EARTHED AT SUBSTATION ENDS ONLY. MID POINT
INSULATION TO WITHSTAND MIN 5kV FOR 5 SECS. SCREEN EARTH
TO BE AT LEAST 0.6m FROM ALL OTHER EARTHING SYSTEMS ON
POLE AND TO HAVE FOOTING RESISTANCE LESS THAN

30 OHMS. REMOTE EARTH AS FOR CATENARY EARTH ON HV/SC POLE.

L. AT ALL TIMES CATENARY AND WRAPPING WIRES AS WELL AS
PILOT CABLE ARE TO BE KEPT AS FAR AS POSSIBLE FROM
POLE STEEL.

5. REFER DRAWINGS 8.10 AND 8.11 FOR DETAILS OF JUNCTION BOX AND
STEELWORK.

110

JUNCTION BOX POSITION
JB/P/SC

APL Nos
JB/P/SC

MIN BENDING RADIUS
FIVE QUAD &432mm

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

ALTERATIONS

ORIGINAL ISSUE

TasNetworks

© Tasmanian Networks PTY. LTD.
trading as TasNeftworks
ABN: 24 167 357 299

NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
OR TRANSMITTED BY ANY MEANS WITHOUT THE

PRIOR PERMISSION OF TASNETWORKS

TITL

"PILOT CABLE
JUNCTION BOX & NOTES

DRAWN (5 PRO-SOLUTIONS

DESIGNED BY ELE(TRO

STEEL/CONCRETE POLE

CHECKED BY H.WESTBURY

SCALE

NTS

AL

APPROVED BY

DATE APPROVED | 29/NoV/18

D - OHC - HOO08

SD - 001

REVISION

A

Ver. 2.0

Communications

Page 8-18




Overhead Distribution Construction Manual Section 8

Pilot Cable — Junction Box & Notes — Steel / Concrete Pole — Materials List

1 | 2 | 3 | L | 5
A
B
APL QTy ITEM STOCK DESCRIPTION
CODE
JB/P/SC 4 75) 32284 | M16x260BOLT
4 82A 40441 |M16 NUT
4 86B 65158 | M16 WASHER ELS
1 59B INSULATOR PIN STALK
C 1 60E 320531 | TYPE ALP 22kV PORCELAIN INSULATOR
1 54) 146540 |CONDUCTOR SIDE TIE, HELICAL, 3/2.75
1 112D INSULATOR BRACKET FOR S/C POLE
1 1 60H 320735 |STAND OFF INSULATOR 22kV
1 109B PCJUNCTION BOX
1 110 PCJUNCTION BOX MOUNTING BRACKET
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trading as TasNetworks OR TRANSHITTED BY. ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
ez TasNetworks TLE SCALE
gl PILOT CABLE NTS
< |o JUNCTION BOX - STEEL/CONCRETE POLE
o ; ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
: g CHECKED BY H.WESTBURY AL
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 29/NOV/18 D O H [ H O O 8 S D O O 2 A

Ver. 2.0 Communications Page 8-19



Overhead Distribution Construction Manual Section 8

8.9 Pilot Cable Support Steelwork for Steel Poles

w \ 2 \ 3 \ L 5
A
s 8
L Fﬁ
; o (k= 3 S
- \3 @18 HOLES
- - DETAIL { >
$ |
C ELEVATION ELEVATION
ITEM 112C - POLE BRACKET OBSOLETE
MATERIAL: M.S. FLAT 75 x 10 TO AS/NZS 3679.1
0 STUD & NUT M16 THREAD TO AS 1111
FINISH: HOT DIP GALVANISED TO AS/NZS 4680
E
- =
\gms HOLE
F
-]
—— T—— 22 HoLe
G b
\;Ma HOLE
ELEVATION ELEVATION
ITEM 112D - CATENARY INSULATOR BRACKET OBSOLETE
H MATERIAL; 75 x 75 x 8 M.S. ANGLE TO AS/NZS 3679.1
FINISH: HOT DIP GALVANISED TO AS/NZS L680
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
© frading as TasNetworks OF TRANGHTIED 8y ANY MEAVS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TITLE SCALE
-2 TasNetworks PILOT CABLE SUPPORT NTS
<|2 STEELWORK FOR S/C POLES
o ; DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELE(TRO
Z g CHECKED BY HWESTBURY AL
< D - OHC - H009 - SD - 001 | &
DATE APPROVED | 17/JAN/19 A

Ver. 2.0 Communications Page 8-20



Overhead Distribution Construction Manual Section 8
8.10 Junction Box Mounting Plate Steelwork Details
w \ 2 \ 3 \ L \ 5

DRILL AND TAP 284 Rl
A 4 HOLES M6 19 246 (RS (i
— 2 8
: | | ——2 HoLEs @1 !l
= /2 6;
[ T T T l T T T M
\ [ I Lo I [ i
| | | | | |
| | | | | |
| | | | | |
©| o | | | | | | 2l g
B SR [ | | | | | IR
| | | | | |
| | | | | |
- | | | | | |
g + Lo N I
T ,
I
3| R
L L 6
[ P P
2 HOLES ;512—'{1} —{i} ]
[ w1 | wo | w5 | 32| us | wo | “r
— \ 162 (RS \ h
JUNCTION BOX ATTACHMENT PLATE
D MATERIAL: 6 PLATE AS 3678 GRADE 250
32x6 FLAT
40x6 FLAT
45 112
E ‘
i ] [ |
A I
— S | | ]
< | | | T~ HoLEs @22
——1 L | 1 —
F
p ~ ‘
3 HOLES @12 @
3 M12x90 BOLTS GRADE 4.6
- — : —4 /W\TH NUTS AND WASHERS
e | Pel o]
o i i
[ : [
20 | s | o
202
PILOT CABLE CLAMP
MATERIAL: HARD WOOD 50x25x202 LONG
NOTES 50x42x202 LONG}pA‘NTED GREY
1. STEELWORK TO BE GALVANIZED AFTER WELDING.
2. 20 DIA WATER PIPE SPACER 12 LONG TO BE USED FOR MOUNTTING PLATE
H TO S/C POLE.
3. 20 DIA WATER PIPE SPACER 12 LONG TOGETHER WITH ONE 50mm SQUARE
WASHER TO BE USED FOR MOUNTING PLATE TO WOOD POLE. DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w b d T Net Kk STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
bl = TasNetworks TITLE SCALE
I 10 PAIR PILOT CABLE JUNCTION BOX 1.5
< |2 ARRANGEMENT AND DETAILS
< DRAWN (5 PRO-SOLUTIONS
x|z
w |2 DESIGNED BY ELECTRO AA
[a
I (HECKED BY H.WESTBURY
< o o D - OHC - HOM - SD - 001
DATE APPROVED | 17/JAN/19 A
Ver. 2.0 Communications Page 8-21




Overhead Distribution Construction Manual

Section 8

8.11 10 Pair Pilot Cable Junction Box Arrangements and Details

1 \ 2 \ 3 \ L \ 5
6
DRILL AND TAP 281 —
6 |
A 4 HOLES M6 " 216 (RS alin
| | —2 Hotes @1 |
I
= /E 6;
[ T T T l T T T H
\1} | | | | | [ =
| | | | | |
| | | | | |
| | | | | |
w| o I I Lo | I sl o
B = & | | | | | | SRS
| | | | | |
| | | | | |
| | | | | |
ES 4 | | | | | =
L I ,
I
n L 6
c al - -,
2 HOLES mz—‘d} —{i}
L o1 | w0 | &5 |32 45 | w0 | ““T )
T \ 162 (RS \ h
JUNCTION BOX ATTACHMENT PLATE
D MATERIAL: 6 PLATE AS 3678 GRADE 250
32x6 FLAT
40x6 FLAT

£ 45 112
Bl & e
] N S 2
| “l g i ! i T~ HoLEs @22
— | L
= e o
F
3 HOLES @12 @

202

PILOT CABLE CLAMP
MATERIAL: HARD WOOD 50x25x202 LONG
50x42x202 LONG

NOTES }PA\NTED GREY

1. STEELWORK TO BE GALVANIZED AFTER WELDING.

2. 20 DIA WATER PIPE SPACER 12 LONG TO BE USED FOR MOUNTTING PLATE

H TO S/C POLE.

3. 20 DIA WATER PIPE SPACER 12 LONG TOGETHER WITH ONE 50mm SQUARE
WASHER TO BE USED FOR MOUNTING PLATE TO WOOD POLE.

3 M12x90 BOLTS GRADE 4.6

| /W\TH NUTS AND WASHERS

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD NO PART OF THIS DRAWING MAY BE REPRODUCED,
" trad TasNetworks : STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
8 TasNetworks Tme SCE
—|a 10 PAIR PILOT CABLE JUNCTION BOX 15
< | ARRANGEMENT AND DETAILS
o ; DRAWN (5 PRD-SOLUTIONS
w |2 DESIGNED BY | ELECTRO A L
o
=le CHECKED BY HWESTBURY
=
< e D- OHC - HOM - SD - 001 | &
DATE APPROVED | 17/ JAN/19 A
Ver. 2.0 Communications Page 8-22




Overhead Distribution Construction Manual

Section 8

Pair Pilot Cable Junction Box Arrangements and Details

1 \ 2 \ 3 \ L \ 5
A |
TTT T T
o | 1[|——PLATE SUPPORT
N @3 [\QL& 1]
{ [ I Il
| gl | i I
of [0 n
Iil/ ! T 2T
B B CABLE GLAND
B
SECTION /A
SCALE 15 \_-_/
CABLE GLAND
@3 SELF TAPPING SCREW
STRIP CONNECTOR
[ / T T
ha B3GR & RPldid
) [9lo] E3C
i% %:
Sl (-
] 2 B e
CaCy ]
[s]e] ]l [~ TERMINAL BLOCK
%iﬁ 3%; SUPPORT
D Na EANAET| (s &%, 718l
I I JUNCTION BOX
& LD
285 \
BOLT M6 x 16
L ASSEMBLY
SCALE 15
155
E 5 34 77 34 3 -Hﬁ
R4 4 -
: . .
 I— S _ 7_$_ - -
& * -
F 4L HOLES @3 \2 HOLES @6
ITEM 1 - 2 REQUIRED
MATERIAL: BAKELITE 155x52x3
SCALE 13
57 z
2 HOLES @3
G Ee====2]
ITEM 2 - 4 REQUIRED
MATERIAL: BAKELITE 57x52x10
H SCALE 13
DIMENSIONS ARE IN MILLIMETRES
SEE NOTES ON DRAWING D-OH1-0682-SD-001 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 iragng as Taskerworks IR LA R St o
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks TILE SIALE
—1a 10 PAIR PILOT CABLE JUNCTION BOX AS INDICATED
< | ARRANGEMENT AND DETAILS
> ; ORAWN (5 PRO-SOLUTIONS
(] @ DESIGNED BY ELECTRO
[
I (HECKED BY H.WESTBURY ALL
o
< APPROVED BY _ _ _ _ REVISON
DATE APPROVED | 17/JAN/19 D O H [ H O W /‘ S D O O 2 A
Ver. 2.0 Communications Page 8-23



Overhead Distribution Construction Manual Section 8

8.12 Insulator Straps / Brackets

w \ 2 \ 3 L \ 5
208
A | | | |
[ — —— \J
[ I mf
20 168
B o
| Q
1 HOLE @18 1 HOLE @14
ITEM 3 INSULATOR STRAP - 1 REQUIRED
C MATERIAL: 40x3 FLAT 208 LONG
D
E i
—— | —
T
20
76
208
F |
! "
a ’ R s
~
1 HOLE @18 1 HOLE @14
G
ITEM 4 INSULATOR BRACKET - 1 REQUIRED
MATERIAL: 40x3 FLAT
NOTES
1. ITEM 5 TO BE FIXED TO ITEM 1 WITH "ARALDITE".
2. 32mm CONDUIT THREAD TO BE CUT THROUGH ITEMS 1 AND
S5 AFTER ASSEMBLY FOR WATERPROOF CABLE GLANDS.
H 3. ITEMS 8 AND 9 TO BE HOT DIP GALVANISED TO AS 1650.
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
” trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
radging as fasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks TILE SCALE
—|a INSULATOR STRAPS/BRACKETS 1.2
<=z
o |2 DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY | ELECTRO
[a'4
— e CHECKED BY | HWESTBURY AA
-
< APPROVED BY _ _ _ _ REVISON
DATE APPROVED | 17/JAN/19 D O H [ H O 12 S D O OW A

Ver. 2.0 Communications Page 8-24



